Citation for published version:
Robinson, P 2007, Multi-agent simulation of the dynamics of social exclusion in school choice. Computer
Science Technical Reports, no. CSBU-2007-14, Department of Computer Science, University of Bath.

Publication date:
2007

Link to publication

©The Author June 2007

University of Bath

Alternative formats
If you require this document in an alternative format, please contact:
openaccess@bath.ac.uk

General rights
Copyright and moral rights for the publications made accessible in the public portal are retained by the authors and/or other copyright owners
and it is a condition of accessing publications that users recognise and abide by the legal requirements associated with these rights.

Take down policy
If you believe that this document breaches copyright please contact us providing details, and we will remove access to the work immediately
and investigate your claim.

Download date: 05. Dec. 2024


https://researchportal.bath.ac.uk/en/publications/c37b6576-8145-4f21-bc54-e8ebe4580232

Department of % ﬁK’SIIT‘YIii

Computer Science

Technical Report

Undergraduate Dissertation: Multi-agent simulation of the
dynamics of social exclusion in school choice

Perdita Robinson

Technical Report 2007-14 June 2007
ISSN 1740-9497



Copyright ¢ June 2007 by the authors.

Contact Address:

Department of Computer Science
University of Bath

Bath, BA2 TAY

United Kingdom

URL: http://www.cs.bath.ac.uk

ISSN 1740-9497






! " Il# $ %& |! ||# !Ill ( ] !II

g™ 's
! n
"& $
# $ $ % &
] 1 " (
) *++$$$% % % ,+ +- % &
$
$ /
$
$ %
%"
& $
/ 0
% 1 $,
/
%2 $ ,$ 3 $,
%
444444444444
& $ 5

%

444444444444



&

$ )
778.% "

9

/3
3%

) 8.

$3

% :$% 3
$

% &

% &

(

(

%<$

%

%






#
#
&
&

%%%%%%% %% %% %%

, $ %%%9%0%%%% %% %% %0 98%6%64

%%9%%%%% %% % %%

@  %%%%%%%%%%%Y

' %%%%%%%%%%%% %% %% %% %% %% %% %% %%
%  # %%%%%%%%%%%%%%%%%%%%%%%%% %%
% A %%%%% %% %% %%

5 " $ %%%%%%% %% %% YW W W WV VWV VWV N

% , %% %%% %% %% %094 %%%
% 2 %%%%%%% %% %% %% % %% %% %% %% %% %%
%B %%%%% %% %% % %%

%B% %%%%%%% % %9

%C %%%%%% %% %% Y%
%C% %%09%%%0%%0 %% Y Y ISR
%C% , %%%%% %% %% %%% %% % %% %% % %% % %88% %0 %% %%
%C%B ) #.909%9%0% %% % % YW W W W W N

%D ) # . %9%%% %% %% %% %% %% %% %% %% %% %%
%D% < # F %%%%%%% %% %9
%D% < # F%%9%%% %% %% % Y% Y% Y e Ve Ve

%D%B # 2/ )2 . %%%%%%%% %%%%%%%% %% %% %% %% % %% %Y

%D%C ' # %%%%%%%% %Y

%D%D 2 %%%%%%% % %0 %8

%D%8 A ! %%%%% % %% %% % %% % %% % % % Y R8I 196%6 %6 % %0
%8 G # 9%0%%% %% %% Y HHFH/0%0%0 %% %% %% %

DEMLAVAN)
Y WD

% " %%0%%%%% %% % % WIS NV NV
%NE # , %0%%%% %% % %0 %
%7 %%09%%%0%%0 %% %% %0 A SRR
$ %%9%%%%% %% % %% YW W W W YW VeV YN
B% "/ %%%%%% %% %% % %% %% %% %% %% %% %% %%
B% % "/ %%0%%0 %% % % %0 AR
B% % / %%%%%%%% %9
B% %B @ %%%%%%%%%%%% %% %% % %% %%
B% 0 %%%%%%%%%%%%%%%%%%%%%%%%%% %




7,

B% % %%%%%%%%%9
B% % & %%%%%% %% %% %% % %% %% %% %% %% %%
B% %B $ %%%%% %% %%
B% %C , %0%9%%%%%%%%
B% %D 0 %%%% %% %% %%
B% %8 %%%%% %% %% %
B%B ' %%%%% %% %% % % %64
B%B% ! %%9%%%%% %% % %8008¢
B%B% " %%%9%0%%%%%%% %% %% %% %% %% %
B%B%B A $ %% %%9%%%%% %% %% %% %% %% %%
B%B%C , %9%%%%%%%%% 5 b s a4 g
B%B%D ! %%%9%%%% %% %%
B%B%8 & %%9%%%%% %%
B%B% 2 %%%%% %% %% %
BWC &  %%%%%%%%%%%%%%%%%%%%%%%%%
co 2 %%%% %% %% %% %9

C% 2 %%%0%0%% %% % Yo YIS IS
C% %%%%%%% %% %% %% %% %% %% %% %% %
D 2 oox %%%%% %% %% %% %% % %% BB % %% %Y
D%
D% % $ H$ , %%%%% DB
D% % $ %%9%%%%% %% % %% %% % %% %% %%t
D% %B %%%%0%%%% %% %% %% %% %% %%
D% 20%%%0%%% %% %YW W W W YW VW WYY
D% % $ %%%%%% 8
D% % O %%%%%%% %% %% % %% %% %% %%
D% %B G $, %%%%%%% %% 8C
D% %C G %%%%%%%%%%%%%%%%% %%
D%B %%%%%%% %% %9
D%B% ;$ %%9%%%%% %% % %% %% % %% %% %% %%
D%B% %%%% % %% %0 %808808888080%0%0%%0% %% Y KBHHIH 870 % %0
8 2 "2 %%%%9%% %% %% %% %% %% %% %% %% %%

8% , %%%%% %% %% %% %% %% %% % %% %% %%
8% % 1 %%%9%0%%% % 08888088080886808080%0%0%%%
8% % , % %%%%% %% %% % %% %% %8900 %% %% %%




8% %B
8% "$
8%B $
8%B% &
8%B%B @

, $ %%%%%%%%%%%%% %% %% %% %%
%%%%%%  %%%%% %% %% %% %% %0 SHHHHE B0 %0 % %Y
%%%%%%% %% %Y
%%%9%%% %%
%%%%%%%8

8%B%C @ %%%%% % %84
8%B%D
8%B%8 & %%%%% %% VI
8%B% @

8%C
8%C% !
8%C% %%%%0%%% %%%%% %% %% %% % %Y RBHHIEY 0% %% %0
8%C%B % %%%%%%% %% %% %% %% %% %% %% %'
8%C%C ! %%%%% %% %% %% % %% %% %% %%
8%C%D , 3 %% ED
8%C%8 %%%%0%% %% %%
8%C% %%%%%%%%%%%% %% %% % % %%
8%CYE $ %%%% EE
8%C%7 %%%%%%%8%8/0% %% % %% % %% %% %
8%C% " I %%%%%0%6%6%09%84

0 " %%%%%% %% %% % %84840

% G %%%%% %% %% %% %% %% %% % %% %% %"

% | %%%%0%%% %% %% % %

E %%6%%%%%%% % %% % %% %% %% %% %% %% %% %

E% 2 ( %%%%%%%%%

E% %%%%%%%%% %% %% % %% %% %% %% % %%

E%B @ $ ,%%%%%%%%%%%%%%%%%%%%%%%%"
E%B% %%%%0%% %% %Y WW WISV WV YW
E%B% 3 = $ %%%%%%%%%%%% %% %% %Y
E%B%B %0%%%% %% % WKW W YW W W Yo %
E%B%C %%%% %% % Y846/0%0%%% % %% %% %% Y% R8% %% % % %Y
E%B%D % %%9%%%%% %% %% % %% %% % %% %% %0
E%B%8 %%6%6%0%% %0 %o WRHAIRHF %0 %0 %6 %% % % % 5% %A

E%C ! %%%09%0%%% % Y YW WIS VWV VN

%%9%%%%% %% % %% %9




#%%0%%%%% %% %% % %% %% %% %% %% %% %% %%

G

7 #

%
7%

, %%%%%%% %% %% %% %% %% %% %% %% %% %61

o

7%B G

K0

(DADAANEA
a

%%%%0%% %% Yo SIS

7%B%
7%B%

7%C

#

;S
6

%
%

o
e
>

#

%%6%% %% %% %% % WU YUY YUY Y% % %% Y FI IO

%

%
%

D

%%6%0 %% % Y0 Y S S S S

%

% %

%C

N

%



SEONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONC)

#

B% %%%%%%%%%%%
B% % %%%%%%%%% %%
B%B% %%% %% % %% %Y e e Ve e e e Ve i)
D% %9%%%%% %% % %% e e iR aP e
D% %%%% %% %% % %% M s iR RSP
D%B %%%%% %% % % %0 Y e s
D%C %%%%%% %% %%
D%D %%%%%% %% %%
D%8% %%%% %% % %% %Y
D% %%%% %% %% % %Y M s iR RS aSR e
D%E %%%%% %% %% %0 Y e a5
D%7% %%%%% %% %% %Y
D% %9%%%% %% %% %0 Y RS iSRS
D% %% %%% %% %% % %0 N a R AP aI S
D% %% %%% %% %% % %0 R S a P RS
D% B %%%% %% %% % %Y s iSSP
D% C %%%%%%%%%%
D% D %%%%%%%%%%
8% %%%%%%%%%%%Y
8% %%%%%%%%%%%Y
8%B %%%%%%%% % %%%%%%%% %% %% %% %%
8%C %% %% %% %% % %%
8%D %%%%% %% %% %%0Y
8908 %%%% %% %% % %% %% %% % %% %% %% %%
8% %%%%%%%%% %%
8% E %%%%%%%%%% %% %% %% % %% %% %% %Y
8%7 %%%% %% %% % %% %% %% %% %% % %% %% % %0684
8% %%%%% %% % %% %%%040%846%6%6%6%840%046%6%0%0 TaBEEEB
8% %%%%%%%%%% %9
8% 9%%%%%%%%%%% %8
8% B %%%%%%% %% %%%%%%%%%%%%%%%%
8% C %%%%%%%%%% %%

8% D %%%%%%%%%% %%

A DDA
V778578078078 ,0/8008 0508008

40,780,700, 7801, 78,
D700 200y ¢

(R0

A A A DN DN DN A
D770 S I DN Yy I

OO OO O AT
D720V % V.

70, Vel O,

DDA
8550800800

el NNl Sl Sl VT e
GO

DN ANIANIANLA
084708018 a0l ule J

DA

AT AR AT LT VT VT Al AT
2

FIDIDVDNDADIDHDNIDN

o
4Ny




SEONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONO)

8% 8 %%%%%%%%%% % %% %%%% %% %% %% %% %
8% %%%%%%%%%% %Y
7% %%%%%%%%%%%Y
7% %%%%%%%%%% %9
7%B %%%%%%%%%%%%%%%%%%%%%% %% %%
7%C %%%%%%%%% %%
7%D %%%%%%%%% % %%

7%8 %%%% %% %% % %% % %% %% %% % %% %% %%
7% %%%%%%%%% %% %8
7%E %%%%%%%%%%%%% %% %% %% %% %% %% %
7%7 %% %% %% %% % %% % %% %% %% %% %% %% %%
7% %%%%%%%%%% %9
7% %%%%%%%%%% %Y
7% %%%%%%%%%%%%8
7% B %%%%%%%%% %% %% %% %% %% %% %% %9
7% C %%%%%%%%%% %Y
7% D %%%%%%%%%% %%

7% 8 %%%%%%%%%% % %% %% %% %% %% % %%
7% %%%%%%%%%%%
7% E %%%%%%%%%%%%%%%%%%%%%%%% %%
7% 7 %% %% % %% %% %% %% %% %% %% %% %% %% %04
7% %%%%%%%%%%%%8
7% %%%%%%%%%% %9
7% %%%%%%%%%% %Y
7% B %%%%%%%%%%%%%%%%%%% %% %% % %%
7% C %%%%%%%%%% %%

7% D %%%%%%%%%%%0Y
7% 8 %%%%%%%%%% % %% %% %% %% %% %% %% %048
7% %%%%%%%%%% %Y
7% E %%%%%%% %% %%%%%%%%%%%%%%%%
7% 7 %9%%%%%%%%% % %% %% %% %% %% %% %% %048
7%B %%%%% %% %% % %%%%%%%%% %% %% %% %




+

" ) 8.

$
/ 3%
0 3 777.%0
$

% &

B% O

C% #

%

D% n
%

% ;
%

% &

3 %%

% &

%

%
/

33

% #



-+ 10 )
& 7E 3 $ 7TEE 2 # 3
$ )% %0 )777.> | %) >< |
) % & 3
$ $ 3
\ 3 $ \
J =% ! , $
0O 3 777.%' 3 $
3, $ %
& $ , 9
Sy 3 8.%&
$ $ 3%
$ $ %
$ 3
3 % & 3%
) = .o
, J =)6 3 778. % $
% &
= % 9#
3 :)0 3777 %' 3%,
3 $
/ 3 $
%
& J =%
! 3
%& A 0 ) 3 D.
> 3 "
)777.3$ $
3 $ /
J =3 % &
= 9 K% %L $
:3 /
3 %
! $, ) 8. \
$ &
/ 9 %
/ % &
= 3 $
) % &
% & $ $ / $ $ |/



3 * Y 3 77E.% <

3 %
" =)7E. 9
$ ,
$ 3 9 : =
$ % & ,
3
% %
& $ *
3 % &
: %"
%
! $ $ % & ,
= ) %
& =, $ *
% < 3
$ 3
3 =
/ $ , %'3 $ 3
3
% # P $
> 3%
%
-1 '0
@ , )77E. J =
$ $3J = $
% ,
F ) 8.
3
% &
* =
= 3 $ 9
% ' 3 ,
# 37 7E.%
3"
* % # $
9 $ $
) I 3 77.% &
$ , 3
3 % 9 $
%
@ 3 /
% 1
3 )# 377E3% $
%
) # . $ 3



3
3 %
# = J
$
)% %6 M 3 7E.3
J =% '
) % % .
$ 3
% )J2 =
3 ,
J =3
)
N
3 3
-1+ ' 0
& , # 3 %
$ # % G <
( % 3
% ;$ 3 (
/ 33 " =
/ > J / =% &
, 9 3
(
=%
A / $
3
% G < )C$
%
#
$ %# )77E.
#3
$ % &
(3 $
$3% #%
! / $
%
) 77E. |
$ 3%
3 $
0%
% (
(
$ $

% ,



# )7/IE3 $ 3

$ ( %

%

2 &

) 8> 8.

0 3 77C.%

% &

% ;

%

% ?

) 3 %D7.

, $

% <

) 7EE.

) % % ?

3

3

% ?

% &

% #
3
)? 03 D>?
$

$

) 77D

3

%

&



9
$ % ;$
$
3
$ %
3 $ ) % % ?
$
/
$ 3 9
% ' 3 /
3% $
$
3 %'
3
$
% <
7D 3 %
% ' 3 $ $
) %3 77E.% '
$ / D ) 3 %
$ 3
J =%
2 & )
3
%
-'2’+
&
J8 %' /
, ) < 3 %&
= % # $
3
%
-2,- )/0
$ J
)? 3 77D.%
33 $ 2 & =
% #
3
3
% % , E
# $ ) 3
. 3
3

> 3
3 7E.%;
3" ) 8.
, $
$
$
& M 3 7773 %C.% &
>7? O ) D.
3%
3
/
/ % ;% 3%
), 3 T7E.%
3 3 3
$
)? 0 3 77C3 %
3
3% %
$ n
3
$ .3
$ 3 $
$
$
% 0 3

%

%



) % % 3 $ $

%' 3
$ 3
$ )
< 3 % 2?0 ) D. 9 0%
%
; 3, 3% $,
: 3
%;$ 3
$ % 3
: > 3% % 3
) %D% .%
& (%, 3 )$
3
3% > 3 3 $
% &
% 3 3
)2 3 77D.%
-2,1 34
#
$ % = )7E.
# %& 5 P=
3%
Y% %5 P3 778.%
## $ % &
3 3 > M
3 % 2
* 9 - %n
3
$ ); @ 3 77E%
2% % Q 3'$ %
&
% ; @ )77E. #*
3
/ 3 =
% & $ |/ 3
$ 3 / % #
$ = 3 3
/ %
< ) # 3 $
3
% 3 3
# %
) D 3 3 $, 3
$*
%
& ? )77D. , #
% < , %



$ $
314
* %
3
% #
# $
%5
3
(
( $
3
30 #
$ #
%0
% &
17
3
)$ 3 B.
% #
* 3
)5, %3 C.
$
$
$ , 9
(
3
%3 77E.% J

J7 )$ 3
) $ J =
# 3
* $
$ b )
)? O3 D%
#3
J = $
$ )$ 3
' 3
$
' /
%
3
9% A
3% #
3
3
%
J =
% 0 ) .
>$ ? O) D.
# %
/
3
% @ (3
% &
3
J =
$, %
% &
>
$

%



)< 3 3 %D%< $

$ , $
3 & $
$
/o 3 3
%@ 3
; % &
% A $
, 3
#% & 3% 3
/ %
& $
(% 3%
:) D3 % . $
3
) % % <,3 8 8
) . 3
>$ 3
2
$
3 $9%
% ;$
3
< )
' 3
$
$
&
D.% # 3J
% &
$
0')
( H
>
H 3
% & /
#
-5- 6 17
# $
$ 3 3
$
. 3
)& 3 B>G
% &

%. '

3%
)$ 3 B%&
%
>$

%
%D%8%

$ % &
3 %'

Q0 #

Y #



) 2 3 D.%

$ , %'
, 3 3 3
9 X
)? & M 3 7773 % % @
)?

$ 3 3

- #%

)?
& $ 3%
; %'

.S 3¢

y# 3 77E3 % B.%

3 3

# 3 77E3 %8> $ %3 77C.

3 1
¥ 3 77

3 ;
% G

$
) 03 D.%

3 s

3 77D3 % % 2

M

B.3

% 1

8@$%

9

% 3

#% ;% 3

3
%# )77E3
3
3
)
3 $,

3 777.% 2/

&
>
3 C%

3 ,$,) 83

3 D%<

% .



¥ 3 777.% & (

3% 3/ H )77
3 $
3
, ) 03 D.%
4 )77,
, $
% #
J =3
%D%8.% &
3 %
3, # %&
% @
> 3
3 $
$ %
$ $ % A
3
% <
$ $ 3
%5 =
9 (
$ ),$,3 8% &
,$7: 3 $
$ %
# =, %
3 $
@3 ) D
$ 3
%
) .$.3 83
, %
> ) D.
$
/ 3
%
) C. $
%' $S$

3%

% ;% 3

% ;

$

)&

3 B%



$ $ 3# 9 3
3 $ $,9% % )2 #
778.% "' 9 : % ) < 3
%
-5,1 '/ 9 : 3:4
& $ # 2 (3
2 % #%
3 # $
3 % ( , $ / 3 ( /
) 3 3% % # *Q
K/ L
)& 3 B.%
', %)77E. $ % & 3
3 #
% & $
/ $ %
@ 3 / $ 3
$ 3
$ 3 % &
$ $ "
= 3% $ $
3 ( $ |/ %
J$ = = 3
/ $ 3
$ , 3% ) %
3 %.
3/ $.9%
% # $ $
$ 3 3 3%
/ W 3 777.% #
$ 3 3
%
! % #
2 %& / * (
H $ $ H
/ 3 % &
$ )? 3 77D.% "
$ 3
# $ /
% ; $
3 3 $
3
= 3
, % 1
$ %# )T77.
$.3

3 2%



A 3 # $

3 )?
0 3 77C3 %B.% 2/ $
3 3 / )"
3 8 Do ? #
23
( 3 $
$ ) %8.% A 3
( 3 % # ,
3
3 2%
? & M )777. % #
3
$ % &
$ $ % ) #
3 $ /
$ 9 %
2% % ) B. # 2
3 $ # $ % '
$ 23 3
/
3 2 % & )
2 .
$ % #
9 2) 3 %A
#
2 ) %8.%
) 3 %C7. $ 9
3
% &
=2 #%
_'5’2 |
A $ %'
3 3 $
$ 3 3 % &
$ 3 M3
)A %3 B%2 /
)% % J =, >
, )A %3
B.% # $, $,
)? 3 C%& $,
3 3
$ H , $ %
A $,
%
3 /
)A %3 B.% &
= $ $
% $ 3 $

3 3



1$ = ) $
%
& (
3 ) %
# $ 3 %
3 3
9 ) 3 %
, ) 3
)? 3 C%& '
) % %
3 %
# / $
) 3 .
$ )A
$
#$ 3
% %)
% =
>
3 $ 3
3 $
% $
( $
$%" $
% 2 3 9
$ 3
$ ) B
%
3
$3% $
3
%
%
E)%% $ 3
5
3
B%:$ 3 )% % 3
# *
%
55 |
#

% # 02

$ )
%? 3 C 8A %3
%;$
*
@
/ 3
$
3
%3 B.% &
$
%
$
% ;
$ $
$ 3
$
$
3 J =
$ $
$ %
3 M
3%
% $ ) B.
$
3
B>? 3 77D.%
$ )% 3
D. 3
)02 .%"' 023
% #
3 3
3 3

B.



$ J $ =
$ $ )0 3 % &
); 3
$ H
$
@ )77E.$
3
0 #
3 $
33
3% $
# 3
i) %'
30 = $
$
/ % &
;$ 3
0 = $3
%
< $
# 02
023 $
Y% # 3 02
, 02
J =% "' $ 3 3
$ % 3
$ % 0 &
) .
02% ;% 3
02 3
$ #%
-5, " o/ 9
2 3
% ?
% 2
3
) < 3 %"'"
3
J = 3 $ J
$
J =
3
)? & 3
3 =
#

%:% 3

023

) D. $ $

$ , 02

% A

%

$ %



$ $
/ %& (
3 $
%
#
/ )
$
1 $,
% &
$, $
$ 3 )
9 ) 3 778.
9 : $, %
H H o,
$,
< = $
/ 3 %
/ 3 , %
% ° 43 S
3
) 2
$ $ .3
3 $,
3
# %
3 #
% ?# $
J = % &
$ $
%:$ 3
/
/ 3 ’
$
/ $ $
Ve $
- < / |
G
)?
2 ) D. 9
%' 3

$3% $
3 778.% &
%

03 D%&
$ 3
0 %3

/3

%

, P#3



%

3 $
J = J = 3
)0 %3 D % !
, ) 3 $%
% # 3
( $3
) %
0 % )
3% 3 % % ) B.
) 8.3 3 $ ,
%
% $
> ? "=
%<$ , $ 3
)? 0 3 77C3 %C.3
/I $ 3 3
%
% L]
)$
> , ,
$ 3 $
9 %
B% ,
%
Ch @ 3
3, = 9
%
/ $ % 0 %
3 %%
3 /
%
5,0 %3 IT 5 ) D ,
H 3 H
$ % & $
/ 3 $
% & 3 3
3 9 : $ 3
*
% & $ 9 :
*
3
$ % " 3 $
%
3(
3
) 3 787.% $

/ $ *



Cc

3
),$,3 8% @
\ (> %
%
)7 D3 IT 5 3 D
3% $ =
%
3
$ 3
% IT 5 )D. ,$
u = %
% ' 3 9
$ >
%
3
) 3 77TE% &
| % #
9 3 %
1 ) $
$ >
3
$
% 3 ) 77E.
9 . =
% 3
%
3
9 3
) %3 8.% #
3
)? & 3 ># 3 T777.%
*
% ;$ 37 &
3
%
/3
NT 5 3
9 3
$
3 %
) ,
% &

3

D.% 2
% &

%n

, ) B.



, %

$3

% 2

2 ;

$
/
$
$ %
$
3
= (
3
3
B.
, 2 $
3
%;$ 3
3 %
00 <
(3
) (3
%
/
$,%2
$
%3 T77E.%
9 3
$ 9 % #
3 J
% &
3 ( %
$ |/
$
$ |/

3
% 0 %
)
3 ,
%
%
$
$ %;$ 3
#$!
# 3$
%
l%<
$ 3
3 $ .,
$
32 " 3%
3
1% )
/ 3
) 3
3
3
/
= $ 3
3 %
3



% ;

3 $ % ;
$
= 3
% &
$J = 3
% &
3
#
, )77
3 $
%' 3,
% ' ) % %
I %3 %:;$ 3
3 % #%
#
/
%V )778.
1 !3$
% &
$
@3$ ) D. $
# 3
777.% & =
=3 $
%CC.%
-> | )
; #
=$3 |/ $
$ # )
)5, %3 C.3
%
3 $1
& /
$
3 $
3
$’
> 9

%

n )B.
, 3
3% 3 $
*
n :3
3
$ %
* , 9
5 . 3 7773 %CB>
/
,)7E8. M
$
9%,
3
/ %
$
% &
3 )y, 3
1% $!
$ )5 . 37773
$, % &
3
$
6#02 $ %
%
( 3
$,%'
%' $
$
3



/3 9

) l 3 B%
$ 3 $
3% % $
)? & 3 %' # $
A ( 6 > ( 3%
# $ (%
#5 $ $
, )? 03 D% :%$ 3%
. )& ; 3 C3 "
#A1) $. $ $
3 $ 3 #53 %
3
$ 3 $ 3
3 )& . 3 C. % $ 9
, :)? O3 D3 %DD.% '3
3 "
3 $,
# B % #
> $
% 1 % " #
/ 6 3 (
%
& = .
6 " <) ,$ IO =% &
$ $ %
# ,  $ #ALl 3% ")&
. 3 C3 A0 #A1 &3 $
3 "
% 2 $ " (
$ % Y@ M & 3 777. wWw
3
>$ %
$ 3 39
$ : $ )% % U
A 3 C>«< %3 % $
$ 3
$ ( %
# *++$$$% $ % ) B# .
# *++ % % + % ) B #
i ++$85% % +  + ) B# .
C# H$$5%( %+ + ) B# .
4 % % +X o+ ( + +) B# .
84 *++35$% % % % ,+X((+$ + A0+ A0 #Al1% ) B#

# *++$$$%, % +X + +) B#



%

%



/ 9 : %

/ " ) 8.%
% & $ * 3%

B% & > 3

C% & $ $

% ! *

% $ 3

% # $

% 2 J =$ $

%I
% ' $, 3

D% & $
%
8% #
%
% & 3
E% &
I %'

1,+,- 9

% &
% & $
3 $ %
% & $ 2 3
6 % 2
6 '02)? 3 D3 ,

%



%

B% G $ 3
(
1,+1 # 0
% & 3
3 3
3 : (
%
1- %
& (% $ * 3 / "
=> 3 $
% &
3 / ) B%%.%
1,-+ 0O O
& $ 3
$ 3
%'$
3 3 | % # , 3
3 3 $,
3% % & $
$.," ,)
%E.%
1 $ 3
" =/ $ % & =
$
$, %
0 9 /
& / $ * %
) $ $
3
) - — )
2/ B% $
$ Y $ 3
% <, =
) - — )
2/ B% $, $

E< YH %



$ 3 S%'

S 3 ,
$, )" 3 8%
& 3/ %
A / $
%' 3
$ > $3 : 3 3
( % & /
3 = 3 $
%
* 3%
> 3%
3 $, $
% & "
) 8.%
;% 3 /3 $
%
' 3% 3 / 3 J
= %J = %
/ 3
$ %
& 3
* / % " = /
: 3 $3
% & $
$ ,
$ , % #
3 $ J =
/ %
$ 3
, %
3 % &
/ 3 $
= 3 J = % #
$ ( 3
3 3 $
3 3 %
" 3% 3 %'
J =%
3 = % & $
3 =
3 |
$ %' 3
3 = ,
3 > 3

)5 . 3 777.%



%

& $ *$ % #
3 A
1 ) C. % 3 3
% *
3
H
$ 3 %
!
" , 3
/ % ' H
$ $ H 6
3 % )# 3
3 3 %
2 " )
3 % '
%
2 $ 3 %
3 $ % @ 3 $
> 3 $ $
%
3 3
3% 3 3 %
# 31J = 3 3
3 $
, %
;' $ 3
$ 3 $ % &
$ 3 /
$ % 3
$ $ % &
3, 3
3, $
3 ( % & ( 3
%' $ $
/ 3
%' $ 3
$ , $ 3 $
"%
& 3 3% $ 3
3
%' $ $
%
?' $
%# S ,
& $ *
$ $ %;$ 3
3% %



3 3 2 %
3
2 % '
3 3 # 3
)
3
n 9!3 =
%
& $
% @ ! H Y / >
% ! H
|/ * $ >
B% <, I H $, 3
$ $, I >
C% 1 H >
D% 1 H > %
" = >
8% 1 H $ >
% H = =J =%
Uu )783 | ( 3 77D. $
3$ 3
3 3 $
% # u = $
% | ( )77D.
$ 3 * 3
%:$ 3% % J =
3 , $
%
$
- 3
% &
$ J = 3 3 $
3 M $ %:$ 3
$
%
11-l-
A n =
3 / $
%0 $ n
, ) B%B%.3$ $
3" $
3 3 ( %
)
# 3 3 3

6 3$ % &



3 % &
$ (=1 %'$
$ %
$, 3
3
%
1,-1 *
& $ $ $
%
2/ B% )% C. *
). — )
2/ B%B $ $
$ ) 3 Z
3
& (
# %
3 , ) Rl ) .R[%& 3 (
3# 3 $ $
$ )
%
# 3 $
+ >
%
& = (
$ % &
%
< $ 3 ) ) -
$ %' $ 2/
B%3 ). ). $ 3
% @ 3 ) +[C%D ) .[B%D3
# , 3 3 $ $
% ) W) ] 3 )"
3 8% $ 3%
H

%% Y[ %D3 [ 3[ %3 [ %B



@ B% 2 $ \ \ \
[Y[ %D%

'3 $ 3 3 S
2/ B%B % )# R 3% 3
/ %. @ 3) 4« [%BB3) .|
%C ) . [ B%8 3 %
$ K3 L%
% < $ 3 3
( *
% '3 $ 3 ) . H
3 H $
$ (
$
% @ 3 $
$ $ $
3 (
% & 3%
% & 3 3 /
$ 3 % 3
(3 $ 0
3 % " 6
%
1,-2 ! )
'$ J , =
= H $

%% Y[ %D3 [ 3[ %83 [ %83 [ %B



# ,
$ $
3$ l
3 A@ &20 %
& % $ *1
%
, 3
) 3
$ , 3 $
$ $
% A 3 $
$ %
# ,
3
$ 3
/
J o+ =
$ /
3 =
= )
1-5 %
&
$ *
% & 3
(3
$ % # 3
3
%
H 3
(3% /
# 3 $
3 $
# 3
& 1= (
J$ =% &
$ =3 J =3
#
; )
$.,>

$

% & $



R S R S%
3
$
3 $ 6 " )
(3
%
% @ $ >
% $ 6 >
B% %
$ *
C% $ 2 3 ( =
D% $ 6 %D3
$ $ 6 >
8% " >
% ) 3
6 >
E% A $ 3
$ $)
% 6 " ) ,$ 0 3
0 (
$l
( ) @ 3 8
3 % #
$ $
$ .3 3
0 $ *
3
>
' 3 $ %
' $ $ 2
! >
' 5,/
& $ / $
% 62 °
62 3 6 2 3
3 , 0
513 %
3 (
$ %
# 4+ 0% % + +)
B4 + M % % % +( + )

%
%

'02>
$ $
3 %
.*
% &
90 &
5
$ ( %
$ >
3 ,62>
%
5 % '
3 , 0 % 62



B% ¢

$
$ $, ,6 " 62
3 /
)0 ) B> %) 8 %
/ $, 3 %,
$ 3
%
| Pg
C% 658
6 " %
5% $ 62 5
5 % @ 3
%#E ( $,
() B.$
D% A "
& A" $ 2 3
2 %< 2 (3
$
% A n
%
A" $ $
%
8% # E
# 3
3 %'
$ 3
% $ n 7
$ " A<5 <
$ $
( %' $ 62 )
> L # 3 $
%# S
$ 3
A O 62
$ 3
%' $
3 3
$ 3 % &
Il# $
/ 62 3
C# o % % +) #
O # “++$55% %S +) #
&4 *++( % % +) #
# H+ % +) # .
By *+t (% % +) #
T# ++$ % ( % $ % +)

% .% & (s

65 62 >
, 365
, 62 365

' PP3 5



$,
$
$, % &
3
3 (
(
$7
%
$
$
$
)
I $
!
%
!
%
!
%
|
%
|
%
3
% # =
$|
%
3 /

%II

% #

"OHHS

' HR&

" HH

)

3

B% %8.%

3

*

%

% .%"

% [

%

BB



. D
#
C.& D
#H= ) *
,%;% 3

3

$
3

= >
%

> 3

% &
+
$ 6
( $O0
0o $
% &
3
3
(
( 0

% &

30

% &

%"



@ B%H<,

$ 3
,$
& 2
# $ @ B%30
3
* 0
3
, %& 3
* $
& J =3
( % 3 3
(
3
3 J$
$
$%
& 3
# 3 %  %B% &
%
% 9"
& $

% 1

% &
%2 $,

%

$ $ % &
($ J =
( % 2

$ %

%

3 %%

BD



%

%

%

%

%

%

% &

$

%

%

%

%

%

B8



%

%

%

% #

%

%) $

% 1



$ %'$ $
$ 3 $ $ 3
$
% & *
, $
%
& J =
$
$ % & $
%
@ 3 $ , $
3 $
% & 3
% 3 % <
$ 3
/-,
J = $ %:$ 3
3
%
10
3 $% $
% & $ $
* $ $
) . % #
3 3 %
& 3 $ $
$ * $ % &
! 1023 B.3 /
$ )
3 $
%' $
3 3
$ % 3 % %
& 102 $ % &
$ 3
$ ) %
2 $ )
3% 3
% &
$ $ %
B%B% $ %
%
$ $ 3%
3 $ 3
$ %

BE



@ $.#
Q ,
023 B.%& $
3
+
>
%
3
$ 3
3
$ *
$
% # $
$ 3¢
$ % #
$
>
) ! 3
$ $ >
%
3
$ 3
% ' )
= 3$
% ;% 3
$ %# 3
J = (9%
% # 3 =
>
$ %
*)
3
3 $ $

B7



@ B%BH<,

@ B%N%& =8,
. $ ).3 8
%1

% 3% 3
&
$)
%& =
B%
% 9
)
3
% 90
& $

%

3
%

%

%C%

w I



C%

%
%

%

%

%

%

%

%

%& $

%

% &
$
3
%
) Q $
$
3
3
%
$
% &
$
3
( %
(9
J o= %
3
$
% & ,



1,1 O

11,+

&  $

% @
%
%
%

%

%

%

%
%

%
%

B%
%

%

%

%

"

%"

% & ,

%

% &

%
%

). $
, %
%5,

%

, &

%
%

%



% 5 & < 0

B.%
w1 y $ 3
%
#..3 % 3
%
11- 0 0
% &
% @
3 %II $
% # 83
/ J = ¥ )
%
| 3" y
% &
%
3 6 = / ¥ h& ’
3 33
/ 3 % ’
% 3 n
| 3
% @ 3 0. 1
* 3 & $ i %
& ( $ i
\ $ 3 J =
%
. 3
_ )
" 3 ’ .3
%I | "
$ L
%
1,1,1 *
# $ °
)y J 1 =% % A
H $ 3
H
% ¥ ° ;
(3 :
3 ’ ’
& $ )
; . ] . & 6 :H
% % X+ o+ %)
. 3 ++ % % +$ o
) B#

CB



% #
$
% @ 3% $ 3
$
% 1 3
$ %
$
$ 0 = ) B% %D.%
$ 0 = 3
$ $ %;$ 3
$ 6 3% $$ %
1,1,2 )
" , , 3 3
3% 3%
% # $
3 6 = ) $
33 % A $ $ >
$ 6 $ 0 %O
$ - 3% $, $
6 )
B% %D.% & 3
$ 6
Yy % - Y% & $
% @ 3 $ .
%:$ 3
M % & $
$ $ %
1,15
& 0 $ $
$ $ )! %3 83 %
: $,
%;%$ 3 %
(%< 6 ,
C $ 3 0 , BE
3 DB $ % & 0
* $ ,
C 3 $
( 3 $ % &
%0
> %
& $ * 0
= 3 s $ J = =
% & $ J = 0
& = 1 5 > ) C%
& $ % % % %.,3 5 $ %88?;M !
%D?  "#%# BCQ = $ 3 ! $
77Q 3 =, $ $
= 13% $

%

CcC



%

$0

J'0=%
234 &55 -&

% 1

234 &55 -&
& 55 -&

)!

%

%

3

% <

%3 83

% &

$

3 $
J =
=3 %
% & $
'0= 3%
*
% &
3
>
, $
3
3% 3
$
*
% &
3
55
& 3 $,
$
$
$
$
$
%
3
%;% 3
%5
0 <
> 3
a&
>
% &
$ $ |/

CD



0 = 3 $
(%;$ 3 O
Pogp ! 3
3 JS$ = 3 $
(% 3 %
< ( 3 =
$ % & 0
9 3 > $ 3
9 0 $ )6 3 .%
1,1,
# $
$ $ $ >
3 , $ % &
0o $ $,
, > $ 3 %
il 3 $ i)
$ 3 $ %
0 J = $ $ >
$ ., % & 3
>$
$, 3% $ $ 3
$ % @ 3 3
3 % &
) $ # 3 %B.%
33 $ $
% # $
> 3
% & $ , 3
% ' $
$ $, %
1,1,=
& 6 3 0
$ * $ $ % '
$ 3 )
0 $ %
3 $
6 3, %
# $ 3 3/ 6
$ % $ 3 , $
3 - %
% # $ *
% & /
3% 6 3
b *++$$5% % +0

B88E % - DCEEE) B #



$ 3
%
% < $ % <
3 $ = 1
3 % # $
$ 3% $J =
, % $ $
3% (
3% 3 %
3
% &
3%
%
3% = )
( 3 $
%
B% ? - = 3
$ + 3 + 3%
/ %& $
$ $ -
1+ 3
3 3
)
% @ $3 $
/ $ 3 =
%
C% A 3% $.9% $ %; 3 $
3
$ %
0 , $ 3 J =
$, >
6 %
> 6
3 B% %D%
1,2
# 3 $
% & "
= 3 D3
3 =
% # $ (
+ $ C3
3 3
% &
J = $ %;$ 3

%



% 0

$

% &
$
% &

7%B% &

$

3%

CE



B%
C%

6 3

/

)
$*
>
>
)
H
0
0
%
$*
3
>
) = %
3 $
>
%
% &

B% .

B%B% . $

C7



& J =3
/ %
J
$ % #
$ 3
%' $
3 $ $
$ 3
$ %' 3
% & 3 B7C
$ %
&
% 3
%
& $ 1
& $ 3 3 (
3
1 3 % $
$ b
3%
3 $ 1
$ 8% )
6 3 0
0 3 %
0% #
6 $
$ $
2- 1
&
* $ 3
% &
3 $
%
$
)
$
$ %
1 3 ,
= %A
J = 3
3 $

8B73 %

% &

8% 3
%

$% &

%#S,

% &



J = %
' 3 3
$ $
3
%
13
31
% 1
3 %
& $ ,
% 3
3
$ %;$ 3
3
& |/ $
3
% 5
$~k
% # $
3
$ >
% #
3 $
&
)
, %D
& 3
% E %BC %C
%D3
# 3%
3 $
! @ 3% 3
3
%
&
3 $ J =
%&
$*
%' *
%
$l
% <,

$
$ J
$
3
3
/
)
3
$ )
3%

%C8 %CE %C7 %D %D
%

[b
[ %D

[ %D

%8%
% #

%8B Coth

% 1



% [

%N $

B% @

%

% &

$

D

% A
$3

%

$3

% #

3 8

%

'$ 3
%"



5 0 @ O

& 6 $ " -
3 %& $ 3 D% %
$ ( n =
% # $ 3 %
& 39
)
= 3 9%, / ) %
5+ '
5++ 0 A*) 0
# C% 3 =
, % 2 $
% 3 % 3 % C3 %E3 %83 %B %8C
3 $
% G %E $ %
& 3 $ %8C3 % E3 %D83
D% 3 % C3 %CE% 2 $ $, % 3 % 3
% C3 % E3 %83 %B 3 %8C3 % E3 %D&BD% BCHo
" $, $
3
) 3 m 3
%
# $ C%3
$ . %D> $ >
$ D % & , *
$ $3 3 *

@ D% H $ %8C3$ ,
% % & $,

DB



[~/

@ D% D% %, %
, $ =
$ 3,
3 *
MA L N nr\/\r\h.-\_/u\/\,\ A M A A M~
o CA Y VY VYV Y MY Y
WY VN DV DN O VN0 VN VAN G VSN N PN

v\lvv vV—V \V 7ana A w kg vvvv 1 V\I V A\l A\~ s

@ D%B %D8 $ $,
%CE3 $
$, 3
% & $,
> % , $ 3
$

DC



$ 3
%D.3

%

3Y

2/

% &

D%

33
%

3
= % &
$ 3
$ %
383 %
%
, %
3
& # )
) ) 3
)
/  Mc
)
3 /
= / $ %
$ 3
3 %
3 $

DD



%1 3

% E

$ >

D8



$ I = $
% # , ;
$ $3 3 % D

%CD) $, 3 % 3 %E3 %83 %B3 %8C
% E.*




C > #$
3 $, 3%
% & #3 B
3 +B % & 3
/ 3
+B +B % $ 3 [ +B
/ %
& % & 3
3
n = *
%.$ 3 :
$
3 W% $ = %
" [ |3$ |
% %
& 3 3%
+C 11} n 3
)
2/ D% H 3 1
$ 1 3 %%
# + & # 806 )& $
$, 3 %
| %
= /)2l D%.
$ $
c e c3 ) vc d3
2/  D%B Mc $ J =
J = , 3 %
2/ D% % & / 3
[ c[ ) [
&
%
@ $ 3 Mc %
8 1 3 c%wbc | 3%
$ >) a1 $, 3%
$ 3 $ 5, )% % %
) A[%Dc [ 3 +B %
3% +B> $$ [c+B
c %D[ +B3 %

DE



5+- *0 00

1 3 =
%D3 I $ Mc %
& [ %D83$ [% $ 3
Mc $ 3 $ $ $  %D%
& $ #  #)@ T%.%& $ % 8>
3 %88% & 3

$ 3 , /




@ 3 $ $ $ %"
3 3 , %D
3 %D% &
3 %
$ %B $,
% > , %C78 %D C3 % %
$ %D % & $ $
= . 3 $ % E3
$ %
; $ 3% $
%# @ D% 3 , 3
, %D %
& , $
%BED% & $ =
, 3 $B3 % 78% 1 3 )
%
*
13 $ $ $ 3
%D8 $, % E%
& > 3
3
$ %
;3 $ 33 ,
% 73
, %BD% & $
% 3 % <
3 $
$ $ , J
=3 $ % @ 3 $
= % $ % 3
L % )& = . $ 3
H @ B% %.
*
@ 3 J = %CE $,
% $ % & % 77 $
) J =3
% B $ , % &
$ $
33
%
5- ' /
< % $ 3 %
$, %



& $ "
% ' 3
$ $ 33 3
$ % $
/ %
" $
3 [b) 3
3
%' R b3 / $ $
) 8%C% .> Sbh3 $ $ 3) 3
$ %
# C»%3%, $ b
% ' 33 [
%D % & [b [ % <
$ 3
[ % & / [ %B83 %8B3 %EC3 %7 3 %783 %7E3 %773
3% 3 %3 %C3 %E3 %83 %B 3 %8B%HDP8ES% % C %
& $ D D 3
1 %
& * $
[ $ > [ %77 $ % & ,
) . $ $
% 2 $ 2
= 3 *
—— % —Ah—2
©“
T
S
§ A A —
( $
@ D%7 2 ,
3 %1
) 3
[ %
& [
3 S 3 = $ %
3 y



%% % % 2

% —2 ‘

@ D% & " \
% 3 , %
$ (
$$ & $ 3 $
$ % ;% 3
3 $ 3
7DQ Q
%
$ )% % %EC.3
% & %77

@ D% %77 /
%



& /
3 % &
%D+ %D / >

3 % , %
3 3
@ D% ! $ [ %
"3 3 3D
3 n = %
3 3 )
# #3 @ 7%B.% & 3 %C3
% & ,
* 3 % [ 3
3 > 3
$ 3
$ " ) 8.%' 3
, % 3 :
3 $ $ 9
3% : %
1 3 $
> $ n %
&
3 I %'
3 3 $
% @ 3 $
= %
51_’_ % /
2 [ %77 3
3%
%
& $ $ *

8B



%8C % 3

% [

%

# B%D8 $
3 $
% A 3
B%&  $
%' 3 $ 3
% "

3 $ E 3
B87 CC7
=%

% &

$
3% 3
% ;% 3
3 $
$ D% % %
& )
% $ 3
3 %8C %C$ % " $
$ 3
$ 3

% 1

% 1

$
$

%

% 1
%

% 1

)% E

%D

&

$

% &

3%

% 3

%"

& $,
%

%EC3

% &

% %

%

%773

8C



$, $ 3 %
%
# 3 $
% < [ %EC3
3
3 =
$ 3 % B3 $
3
3 , $ 3
%;% 3 /
< [ %773 $ 3
$ (
% $
$ $ )
Y & /I $ %3
3 $
%
$,
$
7%C.%
& 3 $ $
3% $
13 [ $ % &
$
3
%' $ 3
$
%A %

%C ) $
%77
$ $ %
, $ %D
% @
$
$ %
%;$ 3 /
$
3 , I $
$ 3
%
$ )
3
) # #3@
$ $
3
%
3 $
$
> $ 3
3

@ D%B'

% E3
%

8D



3
%
& [ %8C3 $
, % &
@ 7%D3# #% # 3
$ $,
% ;% 3 $ $
$ CwD3$ 7%8%
$, % $ $
3 B %C $
M3
$,
%% $, %
@ 3 [ %CS %
$ 3 %' 3
D3 $, % # 3 (
$ 3 $,*
% C7 % $ ,
%87 %
' 3 $,
= % ;% 3
3 $ 3%
%
5-2 < 00
@ 3" )
) 3
> 3
J = [b % % <
) . D% % >
%@ [ %D3
%EC3 %773 3 %8C % C $ >
$ +) .H %83 +).H % 3 +) .3 +) . W %8C
%
; $,
3 $ % %
3 % % %7
E b /
3 )
$ % % E%B%8%

$

+)

$
3%

% %

% &

W %C

88



& +)c % 8 e . % +)c +) c .W%8C | +)c .W %C
! ! ! !
% + + + + BE] + D 7 D
% + + + + BDE + 8 C
%B + + + + D + 7 D C
%C + + + + + B B C
%D + + + + H q 7 D
%8 + + + + + B C B
% + + + + + + O O B
%E + + + + D C B B
%7 + + + + + 7) B B B
& D% HV , %"$ $ )
>
3 % &
3% =
% J = $ 3 $
( > $ % J! =$
Q .3
%
% < $
3 $
$ ) $ S
%D3 Q %
2 [ %73 [ +) W %8C3 $ $3
ha
@ D%CH! $ [ %73 [ +) W
%8C[ %% & J = & D% % &
%
$3 8 3
J =
$ / Q %'
$ Q , 3
$ 7Q , %




& 3% 3
% '
H 8Q
) C
>
$ 3
3 ., % A
$ 3 $
$
J =%’ 77
3 8Q $
% 2
%
3
0" =
>
3
3 1
$ $ Y%
& $ 3 $
%Il
[ %D%
51 /
51+ $*
@ 3 $ )
$ $
%
#
%ES$ 3 $
3% /
3 $
3 3D3 3 D
$3
$ 3
% E / % %
/I $ $33
1 3 ,
& %BE B3¢

8Q

B8
3%
% ;$ 3

$

D%B%
%

$
3

(
$ 3
[ %73 +) . [D+7 $

)

D% 3%,

% <

%

% &
$ $

# 3

DDQ3 $
$ %

$
%

$
=3

% 7%

%

8E



@

$% "

51,-
'8

D% D H &$ > 3
3 3 D % &
D% 3 $, % E%
3 = % &
M
% " =
>
% ;% 3 ,
M 3
J = 3 /
$ 3
/ % & 3
( 3s
$%
3
$ ) C 3
.%;$ 3 $ * g
3
> $ 3 $ 3
% $,

%

87




, O @
6 3 $
= 3 $ 3
$ %
3
$ 3 $
% $ 3
> $ 3
%
13 =
3
3 $ %
o] )
& $ J =
3 3 3 $ % ]
$* 3 $
$ $ $ $ > $
$ 3 $
%
T
$ 3 $
$ Q+Q
%' 3 $ $
$ %" / $
$, 3
%
& + O #
$l
3 %% > S %
& 6 $ ) CC EB8C. $
% @ 7%8 # # %
/%
%
e ! )
@ $ $ ,
$ 3 % & $ *
.1 /) % E.
3 /) % 8.
) %B .
/ % 8) %38C.



D 33 %D3
J = =
1 , )
3 $ (
%
& $ 1
*
, $
' 3 , % D
>
$ % .
| %&
$ b
/ $
J$ , = 3
$ >
»hlo ! ) *
& 1
, /
$ $
] %I ] $’3
$ %
& $ 3
% 3 % DWG S %B$
2 , 8
% %83
*
% & $
, 3 |/
& $ *
$ 3% 3
$
% % %
& $
$ %D %D3$ J
% D
% D*
B2
H 3

H $
E%B%8.%

B3 %3 %  %DP%)&
> %.
% % .$
$
, $
= %2 $
3 %
= 3
%' .3
= 3
, %B
3
= >
%& |/
% A
3
%
, $
/ 3

* %B3 %3 %3 % D3 % D3

%
$

% D% & %8 $

, %B
% %C 3

%BD% &



3

/WWMWWWMWWW

WWWWWWWWWW

@ 8%H -
$ 8
3 ,
$%NH
M8
$ y % J
%D %DD3$
%8 D3 %;$ 3
3%
% @ 3
@ 8%3 $
W% & |
= $
$
% 2
3
$
3 )
$
3 %3
%D %D3 $
' %
. %DS$

3 $ $*

J

EC3$ _
% D%
)%% $ / $
i $
3
%
M = s
M :$
M
$ $
$ %7
% &
13 3
%
$ %
> $
%B%
3% $
%BD% &



)8%C.>

%

% "

EC

%

% D.3

D % D$

, %

$ 3

%

#3

D3 % D

& $

%

%

6

$
7%B% &



$
3 $ $
3 3% %
" $ S
1 *
1 B% %3 6
$
$ /
$ % ( 3

%

% &

@ 8%BHG6 =
& $ @ 8%D3
$ 0 %
B% % % 3
/
$
$ %
<
3%
1 %< 3
$
( >

% 3%

%"

%0

%
3




& * e 3d[@3

* @ H@3 d[ @3
& * e HOH@ d[ @3
3% @

% ;$ 3 * %, 3
$ $ 3% $ %
& $

% ' $
3
$ 3 ( ) %
& $ $ $
$ Q % & $
$ $ $ 3
$ Q ,
$ ( 3% J =$
%
3
3 $ $ 3
Q+Q 3 $
% & $ $ %,
3 $ @ D% %
& $ 3
0 , ) B%B%D.% 2 $
%
1+ /
& *
@ B8WCH& 3 3% $,
%CE3 %D %
@ 8%C $ $,
% & C

%' $, $ %3



3 3 %C73 $ %C % &
+B $ $
) 3% 3
% <
+B $ 3
$ 3
%
3 $, $
%
1- # /
' ) $ 3% % $
Q 3 Q % ;$ 3
3 > $3$ 3
%
= == =
TR
VAW 4 A g A ) N VO W A WY W N
v\f\/\/\v/\'/\/\/V\H/"\.\/\f MM A A
VWHWTWIVWIVVWWIVY YV WPWNWY
/\MMAVAN\AAN\N\I\/\MMI\A/\VJ\MMMMA
NAVAVAVA/AVA! RVAFATAVA \/\/\IW\/\/\/W\’
NNV v VA VA i
N
L
@ 8wWbhH@ 3 3% $,
%CE3 %D %
2 $
%0 3 EDQ $ B3
3 3 %
'$ 3 DO $ .3 >
$ 3, $ % &
$ B Q , 3 C
3 % # 8
3 %

"or& $ $3$ ( B%
& $ C BC $ % <
B 3 % 3
$ 3% Q

3 $



% 7E >
E $ 3
Q , % C 3
$, 3 CC %
B*& E $$ (
3 3 BES$ , % < $
$ * 3 Q
> 3 % E
3 , B Q%
c* $ 8 (
> $, %
& $, =
$ >
@ 8%D%
$, % /
| ”\M]\AVA
\l
J W\h Aok ki A~ AR AN
U WY SV A Y TN I IR P
I A AR iy AL, A
.AVA MM A A A A KYA er\vAv .AA.HNHW,VVX
A [ WPV N VAN VW Y VWY AW
@ B8%8H@ % $, % $
%CE J = $, )
3 3
$ %
H1,1 # /
$ %CE
3% $ 3% 3
%D% & 3
$ $ %D ) %CC
3 $ $ J =
%
0 = $
$ % ' 3 77Q $
3 Q %' 3EQ $
$ | $




3
%
$1
$,
$
$,
>
$)%
$
$
% &

%@ T8 @

% A 3

% &
3%
$) %CE

% 2
3%

3

%

#3 @

%

w w

3%
3

%

% & EQ
$1
%I
3
3
#
T%E @ 7% %
$
%
3%
3 %



|
« AN A A a b g A s A

U\/\r\ Apart ), )\,W&?\A,\M/\ A A MR AA A

VV vy Vv \RARAY
@ 8% H& 3% %CE $,
% %
$
%
& $
*
* 7TEQ 3 3
BCQ $, % 3
1 3 1
CQ% & Q
3 3 BBQ $, 3
% BBQ $ , %
* 4 cc $ % (
$ 3 3 D$,
)DQ $ . % 7B
3 DQ = %' $
, CBQ%
B* # $$ ( $ 3
8D % & , BBQ%
2/ 3
$ %t $ $ $
3 %, % &
3 $ (
). $3 :
) H
3 % : $ 3
3 / 3¢ $
D% % %
;111; #
$ 3
$ # #3@ T%B @ 7%D%&



$ %CE3

$%,

%
2 /
& 3 B% %83 $ % &
$ *
3 $ 3 % &
%
;121+
" * %
& $ 33 $
3% $
J = %& ,
* / 3 % 3%3 %C3 %WE3 %83 %B
%8C3 $ % 2 $ $
% % A $
3 $ $
$ 3
3 2% & $
= $ %E )$ % .3
$ $ % & $ %
%
& $ =
( 3 Q %0 #
/ $ %
< 3 / % $ >
/ $$
% & $ 3 $3 3
%B *
3+ " .- -1
3 * " B
: /_[v\]AvA VA WVKWVV\/\]‘U”MVAVA"A _VAVAV_VV\JAV\JAWAVAVV'\V AVWA\/JV_VVWINVAV\VVI\V\I_\
AN
W AANAMANA 1 A A A A A A AR AN AN AN
T Yy¥v ¥ Wy v v Y \4 \4 v N
@ 8%EH&S$ *! 3




$ %B % %
< % $ ,
) /s ’
‘+4 $ 5 —+—4 3 5
\
X \\
_ \
4 3
@ 8%7 $ 3
/ $ %
< $ =
$ $ % &
3 $ 3 $
> % $
, 3 % % %
R 3 $ 3
$ %
& $ $ 3% $ 3 3
e $ ) %B .3
$ , DQ3 $
$ % @
3 $ $
8DQ3 $ $
CDQ DQ% & = $
3 $
$%
e 0
* B% %8 B% B% %
& $
$ $ % & $
$ $3$ $
/ , $3 $ $
/I $ %
& 3% =
Q3 % ( $

% & $ 3



$$ % %B @ 8%E3
*
3¢ % " . 1%
3¢ % " . 1%
@ 8% &$% ! 3
$ %CES$ $9$,
% 3 %B ) % %' 3
( %
&
% A $
%
# 3 /I $ $
$ % $
%
6 3 $ M
(
%& $ Q
,%:% 3 /
= % ;% 3 [
$
$, B 3
Q% & $ )
> @ 8% 3 /
% % A 3 / $
% 9% ' $
I $ > 3 ( $
al 3 $ 3
$ 3
$ %
12,1 0
"o B% %8 B% B% >C % %
B & H 3 $
3 3
3 J = %



$ 9 3 %CE
% $, % 0 $ )"
3 8.3 !,
, %A =
7Q 3 $ $
3 % &
$ > $ ¢
——) % ——) % % |
\
. \
<
~ \
4 $
@ 8% H / $
3 $ $ $ $ J =
$ B%
A % $3
$ % & / $ $ $
$ %
$ *
_— 6! % _ 6! %
------- 6! % % ceeeees Bl % %
l
I,
l
!
\.ﬁ\;\.’. L
‘ v
l
@ 8% H&$ %8C >
, 3 ) 8%C% .%

EB



) %CE.3

$$ $
B $ %
& , /I $
%" $ I %
22 0 /
* B% %38 B% 3 B% > C% %
< $
3
D% % &
$ % ;% 3%
H 3 Q
, $ 3
$ H ,
%
# 3 %CE $,
% $ 3 J = $ %
& 33 $ $ 3
$ $ % & $
%
J, = $ 3%
)% .%; 3 $ 3$
$ * $
3 ,
% 2 3
$ 3% 3% $
3 % 3
*
_ 5t ) % %
5" ) % %
@ 8%BH&S$ *!
%CES$ $, % % )
% %" 3 $ $ % 1

$ $ (

D3 $
%

EC



$)

(“'2

'
N v
It g ';A.\:“‘\" ‘ DV \‘Ikll AR ne
\% : MY oy ' P e 5 -
[N
nAA )

WVW’VM/\JV’WM\W\/WW\IWV\JUWWWWV

8% C H &% *! 3 %CE3
% %8C ) % %
$ $ %# @ 8% B3
$ D%
$ $ 3
%
3 3
’ % % & $
$
/s % $
3
$ # #3@ 7% %
3 *
Q , 3
/ , A %
$ $ $ %
% &
%B 3 %
/) B
B% %8 B%3B%3C% C% >CY% %
$ $
$
$ 0% # %ES $,
$ > $
% & $ $ $ 3
$ , , %

ED



VVVW\/\
™
WMWN
@ 8%DH J .= 3 %
3 % & %
& , H
J =
H $ >
%' 3% %8C 3
$
%.$ 3 $
= 3 *
3 % 3
% # $ $
%
< $ $ % 8 %B3
, %
& % H %E , HS$
3 $% F& % $ $
3 3%
%& %C3 WE %B $
$ > $ %
7121; I 0
* B% %8 B% 3B% 3C% 3 C% %C > %
%
# 3 (3
$ 3 $
$ % B% %83

E8



& $ 3
$, 3(
%
& 3 $ 3
$ )3 % # %B
$ 3 33
% % # 3 $ %ES$ 3
$ % % & $ $ / $
= ) 3% $ 3
$ 3&
$, $ %CE % %
<$ $ 3
$ $ % % # 3
$ 3% % 8% C%D% &
$ )
.3 3
%
& $ % ' 3 3
/! $ %BC73 % 77 % 7D $
$ % # 38 $ $ 3
$ $
$ ) # #3 @ 7% 8.% &
$ / %' $ 3
$ 3 3
$ $
%
2= | 0 / 0 0
"o B% %8 B% 3B% 3C% 3C% %C >C% %
13 $ $
3 %
A $3 3% * $ 3%
$ )
%
& $ $ %
# 3 WB3$ 33 %
> $ %CE $,
$ % %" $ $ $
3 $ 3 % & $
$ 3
$ $ 3 , %
& $ $
$ ) E%B%8.3 3
$ % ;$ 3 3
)B.% @ 33 $ $
) 3 $ /

=%



& ) 3 %%

/ = %
3 $ $ $
$ $ $ &
DQ
J=3 DQ %D3 $ X Q
$ 3
% :$ 3
3
%
2> | 0 0 * 0 0
"ox B% %8 B% 3B% 3C% 3 C% 3 C% >C% %
@ 3 $ $
$ =
% & $ , % $
3
%
3 ( $ $
$ $
%
# 3% $ 3 3
3% $, %CE % %
# 3 *
J = $ 3%
3 $ $ 3
% < J = $
%
$ $ 3 J =
* / % B %& $ 3
3
* $ Q 3
* % 1 3
/ 3
$ % &
$ %
;721? ' /
* B% %8 B% 3 B% 3 C% 3 C% &@% 3C% >B%3B%3 B%
%
& $ $
3 3
( %
& 3
$ %& $ J = % 3
/ = (
) 8%C%. %& $ $ 3

EE



o
"
R ' . \ N AR ' a L e ‘\ ' ' '~\\ o
- R A A DUPURENR R - F S e "
- AT N et VL e N N R

e . N LN T
v v\,vawvvu'vv\/—\/wv\l/vv WVW'VVWWV\—\JV WAV

@ 8%8H&S$ * 3 $) . 3%
$ $ 3 $, %CE %
3 %B 3
%' 3 $
%
& / $
%
' 3 $ 3
$ $ ) @ 7%
@ Tw%7 # #.% & $
3 /. ) @ T%E @
7%B #  #%
;,2,+C 9
; J = 3 $3 , $
) / %
3 $ / %E3
% ) / H /| %&
$ $ 3 D% 3 $
$, % 3 % C3 %E3 %8 %B
| %& $ $ %E $
% > $
%> $ $ %
& $ $
% & $ % $,
B> $ / $, *

E7



1% 6 %." 7 %6  %."

1% 6 %." 7 %6  %."
------- 1% 6 %." 7T %6 %Lt
------- 1% 6 %." ceeeee 7 % 6 %"

@ 8% H& $ % & $
I %3$ $ I %E%&
$ $ % $
% & )% % $ .
%
< @ 8% $ / >
$ / 3
% & $ " =
>
$ %
A 3 /
$ 3
% "' 3
/ %



=+ <
D3$ $ $
= )83 $ $ 3
$ %&
3 /
3 % <
3 $
M $ = 3
3 3 ( $
/ %;$ 3 %
\Y/
$ %<
$ 3 % A 3
$ ( (> 3
( 3
% & ) $
$ ( %< 3
$ $
J = $ 3
% @ 3 %3
/
F# $ $ $ 3% %
H
%
A 3 $ ,
3 / $% 2
3 :
$ $ % 3 $ :
* $
%
%
& $ = 3 3
$$ , % ;% 3
J , = 3
%8%
# = " =
3 8 3
% & $
3 $ $
%
A 3 ( *
3 $ $
% & $ $ 3 $



%

%

3

6G

%

% @

& $

%

3(

%

1>

“ w



% # 3
%:$ 3
3
) 777.%

w w

02

$
$J =
%
3
J =
3%
$
$
$
% ' $
%' $
3(
$
( %;$ 3
3%
$ /
%
% &
* /
%
B. [/
3
$
$
$

$

7B



>+ 0
& (3
=/ ) 8.3
3
3 (% %
& $
3
& $
(
/ %
$ (
3%
%
&
3 %' $
$ $
)
3 %
= $ %
% 3
= 3%
%
& $
$ > $
% ' 3
/ $ 3 $
%
$ 3 ( =
$ $
$
3 $
$ 3
J =
% 1 3
3 %
% 3

$ 3%
3 %
%' $
/ 3 /
/ D% %
$
'8%B.> $
& 3
> , 3
/ =
$
$
$
3%
%'$
$ , >
3
%;$ 3 %
(
$ >
3 %

%

7C



A 3 $ (3
0 %A $ 0 3
= %
# 3 62 ,
>
$ 0 %
$ J = * $
3 %'
$ > " $ % & $,%$3
B%B% 3
$ %" $
3 $
" %' 3%$3,% 9% $
3 % & 0
$, $ > 3
$ %
>1 #  *)
>,]_,+'
& $ $
% = $
%& $
3 $,
, J = 3
, %
& 3% 3
$, % &
J = = $ 3
% )<
J = / 3 %.
$ 3
% 2
3 % ? 0 =9
) D3 % %' $
$ (=
/
3 / % & ,
3 3 %
$ %' $
3 $
3 $ 3 % &
3
(9% %

7D



#
% &
6 > $ /
%' =3
3 $
$3 J =
$
$ $ $
$ $
3
$ %
>1,1
&
% @ 3
(
$ /
$ +
3
$ )$
% &
% &
)
3 $
3
$
3
A 3
$
, 8 $
$
$
3 $
% ;% 3
, 3%
3 ,
%
& $ $
3
$ $ %
3
3
% & $

%

% 1

% @

% &

%

%

3
%& $

. $

%'$,

% #

3
3 3 3DQ

%

, $ 8

$

3

78



=04 | $
$ $
%
$ 3
= $
3 3
(
3
% @ 3
$
3
%& $ H
$
$ 3%
)% % @ 8%B.%#
, %
>1,2
3
$, 3 3
$
$ % &
$,
% :$ 3
%
'$ 3% 3
% &
3 $
3
% &
%
>1,5 0
& (9%
Y023
J =
% 3 %
$

%

* 3%
$ 3
%& ) .
$
%
3
1$ J
$ *
%"
3 3 =
%# 3
$ 3 $
3 3 30Q
3
" $
$ $
1
3 $,
- %'
$ %,
J
3
3 777.%



%

%

=S
Ro
&
&

, % & $
3
$
$
3
%
$ $
% 3
$
$ $
$ *$
3
> $ $
% " $
% & 3
3 $
> $
= ?'3
%
$ $ %
3
> 3%
%<$ 3% 3
$
$
3
3 % %C.3
%' $ $
% ' ( 3
$
/ ,
%' 3
/ 3
$ %
$ 3

7E



3 %C%;$ 3

, 3 $
3% , 3%
= ) % %
1$3 >& A 3 %& 3% $
= 3 9 :
/ J = % &
$
$ 3
, %
3
3
% A $ $
%
H $ $ H $
[ % < J $ =
$ / 3 3E $ %
B %.
3 %' 3%
3 8%C % %' /I $
/ $ % &
$ / 3 $
$,
%
3% / $ $ 3
3 $ $ $ % &
$ 3
= >
= % ;% 3
3
% & $
/ % $
$, = 3 / 3
)" 3 8.%
3 $ [ >
%
B $ / $ $ %

77



0

# 3% %)77E% " % ! *1 ' %

# 3"%)77 %# % # ). %
8

#

3"%)777.%< # FA G
%' $% & ‘& ( ) 3% %
30%)2 %.% @ * " 3 %
BC
3A%) B.%G 36 3
# %  ** I+, $ # ) 3 %3 M3
%6%3@ 30%3  30%6%3 %.% 1$A< %

30%@%) %0 # 2 *$# 5 2
2 %1%V < $!
1$8) % % # E @ % KA L
*++ $% % % ,++ + +8CB % ) B #

31% 3 A% #% ) 7TE8.% = 2 !

o % - - . 5)B. % B7 D8
3"%)77C.%! " % / - ) 1). %
C8

32%) %# * /

% * " & 0&1*&2 ?7B. % E
E%KA L *++3$5% % + + + +77+ fB+ E) 7
1 8.

$3"%3?7% M3 % 3 %6%)77C.% 0 F'
J =% 3 - +5. %8B E

3&6 < ,3 %) 8.%#! ? ' %
<, ! 83! 2 g2 . 2 3
2 2 ? 36 3?7 KA
*++$$$% % 0 % + +2 G #2%< , %8 % 8% )
0 8.

, 3 %#% ! 3:%G%0%) B%" # 2 2
0 %' * 4 I #

& & ( ) 3# 36 C E3 B%
HH#\B%1SV *# | % E EE

36%6%3V 3#%3 5 3:%) 8.% #
* 4 0 * )
3 %' %
35%2%) D.% @ *# 2
& % & ++QC. % ESC E7B
@ ) 8.%" %KA L
HE % % % +" ) B #
3"%32 3% 3% $ 3"%I%) % &
# Ho % # (
5 ) = % EB D
3"%3? 31% 36% %)77E% # * 4

&

—w



















































































































































